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SeT:B

P69 GEEIR 940 I6aIT TR 000 SuIINE | 6AANUY OR 98AT GIF OMR aeeUdce AN €AQ
F10/CQ1 0Q04g 607 R A4 Q16 FIR/RRI Q1 |

Each question has four alternative answers. Choose the correcl one and darken completely the
appropriate circle in the OMR sheet with Blue/Black ball point pen.

Q6040 9§ @Y 1 (4Q) enQ |
Each guestion carries 1 (one) mark.
QANg g9 eea G2 |

Answer all questions.

Time : 1 Hour
A : 1 IQI

Full Marks : 50
qd Qe : 50

‘@ - dQ1a (eNBe SmiR)

Section - A (Physical Science)

QERRRT SIRYE A7LR 9aR 661R0R AIaAIede
9gQ X 6 689 641700 AIRMIATR 9gQ Y 6268,
AEea 291 61R0a OgQ 6966 609 ?

4R QOR 2E 6 QR AR ALER pH Ry gig
6065 62 ?

(A) 7
Ry 79«1
(C) 7¢ eoan

(D) waeQls 4019

AR-16-G5C-P-1

According to Dobereiner’s Triads, the atomic
mass of first element is X and the atomic mass
of last element is Y. What will be the atomic
mass of the middle element ?

(A) X+Y
(B) X-Y

€ —

(D) X+Y

What will be the pH value of a salt of strong
acid and weak base ?

(A) 7
(B) Less than 7
(C) Greater than 7

(D)  All of these

P.T.O.
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3.

Q62R. UGER CR6OIT ATA60IRY op 2 7

(A) 6
(B) 7
G 8
(D) 9

A9 Q8 AR 90 4324, el QIRIgn dled
©4q 909Ia QIR6a cogaee AIF | cafieid

IS RANR 62001 qIG) A6AIYE 6RRdA AIGQ
6960,£0Q 7

( B/Jr 0.50D
@ 050D
(©) +1D
(D) -1D

©91-6mAR 9@ QIR AP Q& QIGIEH gsa
QEQ QIR A :

(A) @R 6 eaQ
(B) &R 6 daee
{\;0/;1 8 G
(D) &R 6 ARea

G¢] QAR gRLIGE 6REE SR 7

MnO,(s) +4HCl(aq) —
MnCl,(s) + 2H,0O(1) + Cl,(g)

(A) MnOy(s)
(&/HCI(M}
(C)  MnCl,(s)
(D) Clyg)

AR-16-GSC-P-]

4

SET:B

How many co-valent bonds are present in the
cthane molecule ?

(A) 6
(B) 7
(C) 8
(D) 9

A person with myopia eye cannot see objects
beyond 2 m distinctly. What should be the

power of corrective lens to restore the proper
vision ?

A)  +0.50D

(

(B) -0.50D
(C) +1D
(D) -1D

Galvanisation is a method of protecting
rusting from :

(A) Steel and Copper
(B) Steel and Silver
(C€) Steel and Tin

(D) Steel and Iron

Which is the reducing agent in the following
reaction ?

MnO,(s) + 4HCl(aq) —
MnCly(s) + 2H,O(1) + Cly(g)

(A) MnOs(s)
() HClag)
(C) MnCl,(s)
(D) Chg)

Contd.
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QBe 607308 g6ciea gosaiy -lgn 6969, 9@
Q60198 AGCLNIER 6060 gisaiy Q8 6ee ?

1
A) g0

(B)
@/ 50
(D) 100

6AICN REARER IR ANGARIA 689 UG QA
QUe6R 5@6a 980 coq 0 geea Qg |
QERRER AUER AITIQINT 6PN 900 59 600 -

QERRER
F 3

» QAN 68Q

L.
Ll

L™
Ll

(A) a6
99 QIIeg

(C) «@9g

(D) QIRI6]

O
|
_c1:—OH o QRa gae 10 @'6 7

(A) CRRG,
By @6oR

(C) @IEHIRAAR 93¢,
(D) SRR

AR-16-GSC-P-I

5

SET:B

What is the maximum resistance, which can

be made of five resistors of % {) each ?

1
(A) 5 {1

(B) 1
(C) 50
(D) 100

An electron enters a uniform magnetic field
at right angles to it as shown in the figure.
What will be the direction of force applied
on the electron ?

electron
A

» magnetic ficld

.
=

L.
-

(A) Inside the page
(B) Outside the page
(C) Leftside

(D) Right side

O
What is the name of —(I%—OH functional
group ?
(A) Aldehyde
(B) Ketone
(C) Carboxylic acid
(D) Alkene

P.T.O.
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10. @) 0608 §g6e godieo §Que A6AIRR QMg

11.

12.

o6 faR! @ |

6 ()
20 — VT

—AMW— -
AW
30

(A) 8Q

(B) 6

@ 50

(D) 40

QIRQILFIPRR I8AIY (04 QIR WA AIQYS
dee 6% 6266 ?

(A) @
Ry eq sean
(C) e Qg aqR

(D) QacQIe AN

61T QENAER AINRER TR 20 26T |
R ARIER 5 MAGQ 946, 6910 30 6Q6R8 QIR

g9Igo 626R 6950 €10 Q8 €eQ ?
(A) 3000

(R)
(©)

6000 J
9000 |

(D) 15000 |

AR-16-GSC-P-I

6

10. Calculate the equivalent resistance of the

11.

12.

combination shown in figure.

6
A
21}
—NW— -
L AMW—
34)
(A) 8Q
(B) 60
(C) 50
D) 40

Magnification produced by a rear view
mirror fitted in vehicle is :

(A) Less than one

More than one

(B)
(C) Equal to one

(D) All of these

An electric iron of resistance of 20 () drawn
a current of 5 amperes. What would be the
heat produced in 30 seconds ?

(A)
(B)

(C) 9000 |

3000 J

6000 |

(D) 15000 |

Contd.

https://www.odishaboard.com



13.

14.

15.

16.

CAITN 6F1RR X @ @gQ Qe 40 9Q° ¥26e
21 © FRER 46Q 991 AP aHIL AIREIN 6RE
gace e2e ?

(A) gal
(B) ga2
(©) 3
(R ga4

gen nues 21960 af 6 fde af ausa 2!
CRIER N '@ ?

(A) TIDOR 6QI

(B)
(Y Sge 6Q18

0 6@I€

(D) QORR 6QId

21601060 66R00 U081 QI 21N1E Q10 6O ?

(A) §god
(B)

©€) 9Baee
(m/@:ﬁiﬁ

pH @4 1,7 6 14 291 G066 §6¢ pli 6006
QPINEA 629F0Q aTea Q2R & 0Gean
609 ?

géaed

(A) Q9% AIR 6 A1Q
(B) IR, 999 6 AR

(C) @19, _RE G QIQ
(R)7Q98, 710 3 QIR ,

AR-16-GSC-P-1

13.

14.

15.

16.

SET:B

An element X has mass number 40 and
contains 21 neutrons in its atom. To which
group of modern periodic table does it
belong ?

(A)
(B)
(€)
(D)

Group 1
Group 2
Group 3
Group 4

Name the angle between the incident ray and

emergent ray of the prism.
(A)
(B)
(©)
(D)

Incident angle
Refracted angle
Diffracted angle

Angle of deviation

Due to what optical phenomenon does the
sky appear blue ?

(A)
(B)
(C)
(D)

Scattering
Refraction
Reflection

Diffraction

What will be the change in colour of pH paper
strip if of immerse atin a solution having the
pH value of 1,7 arﬁNpectively ?

(A)

(B)
(©)

Green, Red and Blue
Red, Green and Blue
Blue, Green and Red

(D)  Green, Blue and Red

P.T.O.
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17.

18.

19.

20.

21.

6QIGY REARER eRee 9 TWIENS (RICLE
I A QG 6QI6 JRIRG 6REE | 16 696RAER IW
Saee TRNIENSR JRERT AUETR gRIFE 6808S!
QEAREH A°EY 6R6E 69Q 7

(A) 102

(B] .[]2[]'
4 108
(D) 1o%°

QIR FI6QR QIR
(A)

| odieIg QnE 94, QIE
fcARG 0060 68RI8 AaR A°G8e §3

( f6Angee Qeaen QERING, Q60 Q62

(C) 210p-219¢ §086 6015 YRGS 6010
206806 gl

(D) @68 ANg

600 FaN BGAIGH QIAVAR ANREE 9] AR
QAU ?
(A) 09Q Qa84a Fan

(B) &8 Q086 Fan
&y o 2988 G99
(D) QUIY AN

ANQIFER AQY 96 AP AIFR 9de 9e° a1
DIRERICQERR 93GQ UQUIC 6960 699 7

(A) 3:1

Q)

allata)
(C) IR6EINAY
(D) QUAININQE

AR-16-GSC-P-1
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17.

18.

19,

20.

21.

!
SET:B |

Aas drawn by a filament of an
clectric bulp Number of

lhrmlgh

A current of |

clectrons passing

a cross section of the filament is
16 second would be -

(A) 102
(B) 1020
(C) 10'%
(D) 10

Soap is able to clean due to micelles
(A) Since aily dirt will be collected in the
centre of micelle

(B)  The micelles stay in solution as collod
(C)  Micelles will not come together to
precipate because of ion-ion repulsion

(D)  All of these

Basing on which law the chemical equations
are balanced ? https://www.odishaboard.com
(A)
(B) Law of conservation of energy
(€)
(D)

Law of conservation ol mass

Law of conservation of power
All of these

In aquaregia the ratio of fresh produced
concentrated Nitric acid and concentrated

Hydrochloric acid will be :
(A) 3:1
(B) 1:3
) 2:1
Dy 1:2

Ethanoic acid can be obtained from ethanaﬂ
by the process of :
(A)
(B) Oxidation
(C)
(D)

Reduction

Hydrolysis

Hydrogenation

Contq




6QIEN TQ46, 6QI0UIRT CIF 8 ARG ACRRNER | 22. A magnetic field inside a long and straight

22.
00 2°90 QAN 689G @' 629 ? solenoid carrying current __
( ;;)}1@ 219q @A (A) Decreases towards the end
( gIe UIPY G (B) Increases towards the end
(C) <Qe0iea AR (C) Is the same at all points
(D) €% 36C (D) Zero

23, 6QI5N 6¢14R AG65R A0 968N @8 @6 9eRIE | 23. The element reacts with oxygen lo give a
398 cAIGe Q8 @6Q | NP1 NI FRER LA ! compound with high melting point. This
6919 6:T10@ AuQ 6RET 626 7 compound is also soluble in water. The

element is likely to be:

(A) @ea (A) Carbon

(B) QAR (B) Silicon

(MQQ (C) Iron
(Df @ua@sq (D) Calcium

24. 99 Gf QU6 0GALER 5 A @ 9@ TR QS | 24. A domestic circuil has a fuse of 5 A. If the

soias | 9F qen QY6 691G 240 V €Y,
PILIEEER 40 W 6 2T624616Q 6R6GIT S1Q-RI6,
FRIIER QHRES 6RIRAIRS ?

main electric supply is 240 V, calculate the
maximum number of 40 W tube-light that

can be safcly used in the circuit.

(A) > (A) 3
(B) (B) 10
& 20 (C) 20
(D) 30 (D) 30

25. An optical instrument is made of two lens in
contact having powers +12D and -2D.

Find the focal length of the combination.

25, cQIB ZICAINIO 9URAE QIF 6ARAER GaIR
cQI0f | 6RRA QUa aIgie QaIgea +12D 6
- 2D 6269, 9P {§0 6ARA Q08 6T1AQ GO

@60 ?

(! (A) 10m
(B) 5m (B) >m
(C) Im (C) 1m
(D) 0.I'm (D) 0.1m

9 P.T.O.

AR-16-GSC-D-I
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26,

27.

28.

E

‘W - Seug (@19 SRIP)

Section - B (Life Science)

adieaq edal 2rag o'g QQIAI ?
(A) AR Qg

(z/oaq/gm
(QL 989121 agy
(D) @& og

9@ @AeRY aSeq 9 GBe ANIBe aIEe HY6R
RIS UPQ G1210 A1 0HIR PIaE @' 7

(A) Ug&°6e aF Qiase 20 ARSI G5
fﬂla
(B) 29 2°90 af Q1560 206nI0 B! o

(C) 29 °9a &9 Q1960 LR6AIR AIGE! @

(D) 29 2’96 Q80 QIGER 2REAIR QIEI AAIR

A8 96166 APINGS @S ATIRE ANGER 604
835 0] ?

(A) QINATQ 2RQ G FRA AUQR QLYY
o

(B) Q PR 6 FRA AUEH a9 gale

(& Qinaea GR 6 @8606a Gea 6
QegeIe

(D) @86aca 20 8 QNACR Hea auee
geIe

AR-16-GSC-P-I
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26.

27.

28.

The narrow part of the uterus is
(A)
(B)
©)
(D)

Fallopion tube
Cervix
Vas deferens

Umbilical cord 3

If a growing plant is kept parallel to the soil,
then what is the reason for its stem growing
towards light ?

(A) The concentration of the hormone is

more in the upper portion of its tip.

(B) The concentration of the hormone is less
in the upper portion of its tip.
(C)  The concentration of the hormone is less

on the lower portion of its tip.

(D) The concentration of the hormone is

equal on both portions of its tip.

Which statement is correct with respect to
flow of oxygenated blood in human body ?

(A) Blood flow from left atrium to left

ventricle

(B)

Blood flow from right atrium to right
ventricle

Blood flow from left atrium to right
ventricle

Blood flow from right atrium to left
ventricle

Contd.
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29. 666 JBAIEA IR 6N QAU OQ A1V AGD
60186 QRILINAITS ?

(A) X
904

(C) SaeR a8 geaua
(D) Q6aIBE

30. 69 6QIIG AQNTG ?
(A) 6QIERETICARISR-B6RIR B
JI9G-66Q 2008 296
(c Q1600 2PN -AGYAIR
Qf ARTREITRANE- AL

31, QIRQ Q16 QIS 991 |
(A) e@ieq
(B) 6@isq Quid
(C) ARIEFI 60QeQ
(B 621601 684G,

32. Iy QHR6Q 60WC A GsAIE O1g 2R ?

(M)/'ﬂl
( @
Qe

D) Eaal

X
]

0

33, QQIRQEEAIGY giIada ang ?

(Am

(B) 606919
) ORPIQ
(D) &%

AR-16-GSC-P-I
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29.

30.

31.

32.

33.

SET:B

Which process of absorption by root hairs can
be called active absorption ?

(A) Tracheid

(B) Diffusion

(C) Use of metabolic energy
(D) Suction

Which pair is unrelated ?

(A) Chlorofluorocarbon - Ozone hole
(B) Mercury - Nonbiodegradable

(C) Nitrogen oxide - Desertification
(D) Sulphur dioxide - Acid rain

Indicate the species of man.
(A) Homo

(B) Homo habilis

(C) Homo erectus

(D) Homo sapiens

Which is different from other three in food
chain ?

(A) Snake

(B) Eagle

(C) Frog

(D) Grasshopper

Which of the following is a renewable natural

resource ?

(A) Coal

(B) Petrol

(C) Wild Animal
(D) Water

P.T.O.
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'SET:BI

(A} Mammary gland - Oxytocin

34. 60Q 61T 2QNGE
RIe 2QA8¢ 7 34.  Which pair are unrelated ?

(A) 90gR-2Qeeidn

(B) 94uQ 9&-gegid

Q) zeRieR 92-9Gridie

(B)  Pincal gland - Puberty
(C)  Emergency gland - Adrenaline

D 5.
(D) aeeve gi-aiq) saQeAIR (D) Thyroid gland - Parathormone

35. 3-qidq qgﬂﬂms.l@ﬁ A 606 QP98 Q@ | 35. Which product formation from 3-Carbon
62918 ARER 20ege uiea 26iq ? pyruvic acid does indicate the initiation of
A/ citric acid cycle ?
(A 2-Qdege ada ug + NADH, +CO, (A) 2-Carbon active molecule + NADH,

+CO,

(B) 2-Qi9qge @R +CO, + 45 (B) 2-Carbon ethanol + CO, +energy
(C) 3-e1degs AgR 29+68 (C) 3-Carbon lactic acid +energy
(D) 1916098 2aaQI + 60 + 63 (D) 1-Carbon CO,+ water + energy

36. 6769 CI9R-0NIAG6R 606 TFR few oaea | 36. In which generation of his experiment did
@0Em 7 Mendel perform cross pollination ?

6dge OF (A) Parental generation
(B) 9an uaey g (B) F, (first) generation
(€ &fow 46 (C) F; (second) generation
(D) geeye 9@ (D) In every generation

37. 6769Q CIS0 VG SR FRAF TR FI8Q 37.  Which character is not included among the

AELIP J0g AL6R 606 FOF UGS G6¢ ¢ 7 pairs of alternative characters of the Pea
plant ?
( fga Weo! (A) Height of the plant
(B) A5 AR (B) Shape of the seeds
(C) 9&a ot (C) Colour of the seeds
(D) gae oF : (D) Colour of the flowers
AR-16-GSC-P-1 12 Contd.
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38. 60I9Q GUQ QR 696 2°8] NS QYe €9 ?

(BLX 106280
(C) uRAG eoIn
(D) e oo

39. Qe gRIq 6RI9Q 401 Q8 609! adie aeNg
R'Q I ?

(A)  2fieeRerdq
(8 adage geal
(C) Qeaae
(D) @& geal

40. 6ed Q@8 QARIL ag 7
(A) 06FQ 6641 8 QIGHa 604
(B) 6QIPIS6AIG B AESQ 210
(©) Q 664 8 FTR 6o
QIeGa 6041 6 Sega ¢oal

1. @°8 QYR ANGER 6RUTea aRRN JSaIee
60811 ?
(A) Qege
(B) aeq
(& qfe

(D) qesaigan

42. €OQ 6RIIT Y@ QINIGFRE Bg ARG 2
(A) 698l
(B) 9QuIQN/96Q
{0) ? 4
6QIRG-19

AR-16-GSC-P-]
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38.

39.

0.

41.

42.

SET:B

Which part of the Gobar gas plant does
produce slurry ?

(A) Inlet vessel

(B) Digestor

(C) Metallic dome

(D) Outlet pipe

The interval from primary permatocyte to the
development of sperm is known as

(A) Spermiogenesis

(B) Phase of maturation
(C) Differentiation

(D) Phase of growth

Which two are homologous organs ?
(A) Insect wing and Bat wing

(B) Leg of Horse and hand of Man
(C) Insect wing and Bird wing
(D)  Bat wing and Bird wing

In which case is longitudinal binary fission
seen during the propagation ?

(A) Euglena

(B) Paramaecium

(C) Amoeba

(D) Plasmodium

Which disease is bacteria related pandemic ?
(A) Plague

(B) HIV/AIDS

(C)  Swine flu

(D) Covid-19

P.T.O.
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43. QRES 60U 2GR A9REI QIFY cRIRAIN 7

| sn:B]

43. In which part of the body is blood filtration
done ?
(A) fene (A) Urethra
(B) Urinary bladder
193 (C) Pelvis of ureter
SUENYRQ (D) Glomerulus
4. QI098R 606 GAT Ry B6RIS 0 9@ qae | 44, Which gland of digestive system does
QU Q6Q ? perform a different function ?
(A) QIegd (A) Salivary gland
(B) ®0q g8 (B) Gastric gland
(C) Q g& (C) Intestinal gland
( aqe (D) Liver
45. 6QIRE-19 Q AIQAGRK FORER 606 QQIRIRYFR | 45. What are the chemical components present
a7 in COVID-19 ?
(A) 4ReQ zIQIRY (A) RNA only
(B 210989 +g8Qe (B) RNA+Protein
(C) YRQIRN+9QAIQ + 640 (C)  RNA+ Protein + Carbohydrate
(D) 9829 +640QR (D) Protein + Carbohydrate
46. 6QUE QUIEH OBER IS RVITRE ? 46. Which is an example of in-situ
conservation ?
(A) ~ 9&O Q@ (A) Plant garden
1913 QYR (B) National park
@ agidan (C) Aquarium
(D) Sfase (D) Zoo
47. 92980 60U 26a QUQ B7nA 62IRaa ? | 47. In which organ of respiratory system
exchange of gases take place ?
(A) QEae1 (A) Trachea
Ry qiandal (B) Bronchus
(C) 9aw (C) Pharynx
(D) eQcoRl (D) Alveoli
AR-16-GSC-P-] 14
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SET: B

48. 9809 600 I'QI3 Qg @l QeI | 48. Indicate the wrong statement regarding
excretion in plants.
(A) €19 AT QauRien eFieg Qge (A) Excretory materials may be collected in
/B’GGISQ vacuoles of plants
(B 08GQ LI06aNGR 6ade, SIRR 00 oF4eg (B) Excretory materials like resins, tannin
'ge 24 are collected in matured xylem
(C) IORIRR Q@ eFoan (C) Quinine is an organic acid
(D) WERIER 9@ ROIIR (D) Nicotine is an alkaloid

49, I{=07) 690Ul RIB10 GIIER AYRAIQIEH Q6316 | 49. Which carbohydrate type of foods do contain

Q@8 higher amount of sucrose ?

(A U1 6 w6 (A) Potato and Rice

(B) @FAQ G ORadel (B) Fruit juice and Vegetables
(C) SFeqe (C) Sugar and Molasses

(D) GReag (D) Sugar and Potato

50. €0Q ROINER IOZINGR/NCAR A°QNE L4 @@ ? | 50. In which way HIV/AIDS does not spread ?

(A) gfie dm g0 (A) Use of infected syringe

(B) 191 Q@6 ANASI (B) Mixing with the patient

(ﬁ@@@ 6606 anG (C) Immoral physical contact

(D) @efic a O 909 &9 (D) To carrying baby from infected mothers
-000- -000-
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